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MATH 250-Linear Algebra and Differential
Equations for Engineers 15.12.2015

Izmir University of Economics Faculty of Arts and Sciences, Department of Mathematics

Midterm Exam 2
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(1) (a) Let

Determlne if wis in Col A? Is w in Nul A?
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(1) (b) Find the characteristic polynomial and the eigenvalues of the matrix
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(2) (@) Find an orthogonal basis for the column space of the matrix (Use Gram-Schmidt

(b) Orthonormalize the three vectors found in (a) and use them as the column vectors of

the matrix Q).
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(3) (a) Find an LU-factorization of the coefficient matrix of the system:
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(b) Solve the above linear system by using LU-factorization.
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(4) (a) Find a least-squares solution of the inconsistent system Az = b for the given A
and b
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